Suites numériques
Corrigé DS

ug —u, :32——3 _ 35 _

l. us=u; +(8=-1)r=>r=
st @-1) 7 7 7

ui==3;u=2;u3="7;u4=12;us=17 ; us =22

ups=u;+(24 — r=-3+23x5=122

2. q=5’25 =1,05 =2 u;=5;u=525;u3="551 ;u;,=5,79 ; us = 6,08
up=u;xq"'=5%x1,05""""1=8,55
+
3. Si0=100 x L+100_ 5 650
9 —
4. S10: 125 x MZ 924,38
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5. Probléme 1

a. L'augmentation annuelle correspond a une suite géométrique de raison

12
—[1-—2]=088
1 ( 1ooj

b. Dans 6 ans, us = 870 x 0,88° = 459,12. M. Martin recevra 459,12 €

6. Probléme 2

uy, —u;, _300-120 _
36 36

5

a. u37=u1+36r:>r=

+
b =37 2000 g
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